INSTRUCTION SHEET 319293

When using this switch as a service replacement on
25 through 65 H.P. models, the 1/2" long screws
and washers supplied must be used. When using this
switch on 85 through 135 H.P. models, the 5/16"

long screws and washers supplied must be used.

25 - 65 HP USE €-32 X 1/2'' SCREW
85 ~ 135 HP USE 6-32 X 5/16'' SCREW

/

5/32" 1.D, X 5/16'' O,D, WASHER

Printed in the United States.
©2004 BRP US Inc. All rights reserved.
TM, ® Trademarks and registered trademarks of

Bombardier Recreational Products Inc. or its affiliates. DSS022191 REVC  7/04

INSTRUCTION SHEET 319293

When using this switch as a service replacement on
25 through 65 H.P. models, the 1/2" long screws
and washers supplied must be used. When using this
switch on 85 through 135 H.P. models, the 5/16"

long screws and washers supplied must be used.

25 -~ 65 HP USE 6-32 X 1/2"" SCREW
85 — 135 HP USE 6-32 X 5/16'' SCREW

5/32V' I.D, X 5/16" O.D, WASHER

©2004 BRP US Inc. All rights reserved.

Printed in the United States. W H m

TM, ® Trademarks and registered trademarks of
Bombardier Recreational Products Inc. or its affiliates. DSS022191 REVC

7/04



